144,

145.

146.

The largest single landowner in the area was Mr Green,....... first nobleman of

Chinsky.
a) later the
c) the latest of the

a community lona owes its foundation to the tempestuous nature of its

original founder St Columba.
a) Like
¢) Unless

b) the latter
d) atthe latest the

b) Though
d) As

British grant-maintained school is a proposed form of secondary school: .......
central government rather than by a local authority. ‘ ‘

a) being sponsored in a
b) funded by

c) founded by a :
d) eslablishing the sanith

AL

147. Apartments nearby were purchased and demolished to create ....... larger area.
a) afar w “1d b) - the
c) afar d) so far

148. When scientists debate on ........ unique amollag aniniils, théy ‘o,vften_ point to
language.

149.

150.

151.

152

a) how the humans are made
c) what it is that makes humans

b) whether there are humans who are
d) what made the humans be

The term “services” includes ........ from getting a haircut to.having your house
painted.

a) something b) that

c) theall d) anything

In spite of the successes and the area of siddy - 'eoope‘i-'a’ﬁbn"'between
professionals ......... .
a) is not without its difficulties

b) does not have any difficulty
c) has not their difficulties

d) do have their difficulties
An ester may be almost completely hydrolyzed if it is heated with wa;e"r',’ esind
proportion of water is uséd. ' %o
a) unless enough large

f y vl
b) provided that I h
¢) on the condition that large enough ) P e

d) so long that large enough .

As in most other tribal societies
a)  if commonly hold by all

b) and held in common for all ok
¢) provided the commons would have it for all '
d) unless it wasn’t their property

» land was owned by no-one ...... oo s

153.

154.

155.

156.

157.

158.

159.

160.

161.

The matter seemed to him perfectly clear, and he had no doubt
a) about what all that occurred

b) that it was all that occurring

c) atall as to what occurred

d) about neither occurrence nor coincidence

In return the chief received not rent,
warriors.

a) to make the land be his

c) to have the land in his disposal

............ » but the service of young men as

b) because the land wasn't his to let
d) that was strange for a landowner

The unpleasant effect of the first ci
a) make children to refuse
c) dissuade children from taking up

garette may be enoughto ......... the habit.
b) get children give up
d) make children to give up

Bone-forming cells
forming bone tissue.
a) are lain as
c) laying on

......... concentric rings of bone around the blood vessels
b) lying like a
d) lay down

He was at the house of Admiral Johnson
occurred.

a) during the whole of the
c) for rest of the

evening when this incident

b) within much of
d) in the previous

............ bad posture, and sometimes cause deformity of the bones.
a) Poorly fitting clothes and shoes can also result in

b) Badly-fit clothes as well as shoes may cause

¢) Clothes and shoes being badly fit can bring about

d) Improperly done clothes and shoes can also cause

It’s probably the least-known part of the country, yet offers everything from wild
scenery to ......... resorts and historic towns.

a) coast lively b) lively coastal

¢) lively costing d) coast lovely

During photosynthesis ......... carbon dioxide with water.
a) sun light energy is used to combining

b) solar energy used to combine

c) sunlight energy is used to combine

d) the energy of sun light is used to combining

As far as I know his key never left the watch-chain .........

a) on which it hungs b) upon which it hangs
c; on which it is holded d) to which it fixed
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